SUNRISE 2 EXAMINATION

CHEMISTRY PP1
MARKING SCHEME

1.  Label all the chemicals to avoid confusion. (1
        Always use a clean spatula/dropper for scooping/droping substance from container(1
        Chemicals already used must be disposed off safely to avoid condamination.

         Read container labels carefully to avoid mixing the wrong chemicals .
2. Add acidified barium chloride /nitrate (1,a white precipitate will be formed with sodium sulphate and no white precipitate with sodium sulphite (1
	element
	        C
	H

	Mass in %
	86
	14

	RAM
	12
	1

	No. of moles 
	86/12=7.1(  ½
	14/1=14(  ½

	Mole ratio
	1
	2


E.F = CH2
a) its molecular formulae   (2mks)

             6g of CH2 occupies 3.2dm3
                                              22.4dm3

                    22.4x 6            
                 —―——   = 42
(1
                        3.2 

(E.F)n =M.F

(CH2)n=42

14n=42

n=3

           MF = C3H6(1
3.     a)  CURVE II(1
b. The reaction will have reached completion and the amount of reactants and products 

do no change further. (¹

c. 
5         a)          Increasing the pressure (  ½
                        Decreasing the temperature (  ½
                        Adding more of X2 and Y 2
            Removing X2Y formed 

b) 

                          (1
(1
6 a)    Calcium carbonate or any carbonate except lead carbonate (1
b.          Complete the diagram above  (3mks)

Passing through a suitable labeled dryng agent  i.e  conc sulphuric acid ;calcium oxide           ;anhydrous  chloride  






             1 mk 
Correct method of collection i.e downward delivery 


 1mk 

Workability                                      




  1mk

7.         Molecules of nitrogen are held by a weak van der waal forces(1 while that of sodium has metallic bond 

  thoughout the structure (1
  8 .      a)   Sulphate ions 
(  ½





Carbonate ions (  ½
b. Alluminium ions 
(  ½


Zinc II ions (  ½
c. CO32-  (aq) +H+  (aq)    →  CO2(g)  +H2O(l)  ║ SO32- (aq) + H+(aq)  →SO2 (g) +H2O(l) (1
     9.
· Add 100 cm3  of 1 M sulphuric acid or 50 cm3 of 0.5 M of sulphuric acid to 100cm3 of 0.5 M    KOH(1
· evaporate the resulting solution to saturate and allow it to cool (1
· filter the mixture and dry the residue between the filter papers (1
NOTE. The volume and the concentration of sulphuric acid must be mention.



Otherwise penalize fully

10.      (1
11. 
Q=IT 
O.5X [(32X60) +10]= 965C(1
0.44g of R = 965C
88g of R    =


88x965


---------  =193000c (1

     0.44

       1F=96500C

  
    =  193000C

         (19300X1


   —―—  = 2F(1

      96500

              charge = 2+


penalize ½ mk if  +ve sign is not shown after the number.
12.  a)  ability of the compound to have the same molecular formulae but different structural formulae(1
   b) 
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Butan-2-ol(1
13.                a)    Increasing the surface area(1
         b)

           i)   Froth flotation(1
           ii.  To concentrate the ore (1
14.      a)     2Zn(NO3) 2 (s)        →      2ZNO (s)      +  4NO2(g)     +O2 (g)   (1 

b.    2AgNO3(s)        →2Ag(s)      + 2NO2(g)      + O2(g)    (1
15.      a)  potassium bromide (1
            b)  60-55=     5g(1
16.       a) 
i) A :


 X2+ (aq)         + 2e      →     X  (s)    (1    





 
ii) B…

Br- (aq)          →  Br2 (g)           +  2 e
(1




 

b. There is production of poisonous bromine gas          notes. The gas must be mention (1
17.     a)   Y(1
            b)   E cell= E red – E oxid 


      +0.34-  - 2.92 (1




penalise ½ mk if the sign and unit is missing 
            = +3.26(1
b) X (S)│X2+(aq)║Y2+(aq)  |Y (s)
(1








18. a) 
nuclear reacstion produces large amount of heat while in chemical reaction produces less amount of heat (1
    
In nuclear reaction it involves only the protons and neutrons while a chemical reaction involves the valence(1
In nuclear reaction are not affected by environmental factors while in chemical reactions are affected by the environmental factors 
       b)  
          
   230                            230
                                         90Th          ——→ 92  Pa   +   2    -10e   (1
19.   Hexane molecules are held by weak van der waal forces (1while ethanol molecules are held by hydrogen 
        bond (1
20.    a)      P2Q(1





         b)     Ionic bond (1.it involves complete transfer of electrons from P to Q(1
21.    a)  the volume of a  fixed mass of a gas is in directly proportional to the absolute temperature at constant 
              pressure (1
          b)     (1
c. V1=250
T1= -23+273=250K

V2=?

T2=107+273=380K

V1XT2         250X380(1
      V2 =    —―—   =     —―—  ==380CM3(1
T1

250

22.    a)      Soapy detergent(1
         b)      B(1 – it doesn’t form scum(1
23. a) Enthalpy change that occur when a compound is formed from its constituent element. (1
      b)

 SHAPE  \* MERGEFORMAT 


(1
∆H1 +  ∆H2  = ∆H3  +   ∆H4
 Then 

∆H3 = ∆H1  +  ∆H2 - ∆H4
∆H3 (2x-394) + (3x -286)-(-277) (1
=-788 + 853- -277

= -788 – 853 + 277

∆H3 =-1646+277 =-1369

∆H3 = -1369kJ/Mol(1
24.       a)  R is more soluble than Y (1    
         
b)
· cut the yellow spot and placed in a beaker containing ethanol/methanol/propanone  and allow it to          dissolve. (1    
· remove the cut part of paper from the beaker when all yellow pigment has dissolve and leave in the sun to evaporate ethanol/methanol/propanone used . (1    
25.      a)   2NaOH(aq) + Cl2(g) ( NaOCl(aq) + NaCl(aq) + H2O(L) (1
           (b)        The resulting mixture contains NaOCl (1mk which decomposes to give oxygen (1mk 

which bleaches by adding itself to the dye
26.
Z(  ½- it has high M.P and B.P(  ½. and also conductor of electricity in solid and liquid state(  ½
X(  ½—has a high M.P and B.P(  ½ and do not conduct electricity in solid and liquid state(  ½
27.   ZnCO3  + 2HNO3  →Zn(NO3)2 +H2O  +CO2
                                 
50x4=   0.2 moles .    (1       
                                  1000

Mole ratio of HNO3 : ZnCO3  = 2:1
Moles of ZnCO3 = 0.2/2  = 0.1moles 

Mass of ZnCO3 = no. of moles x RMM



 0.1x125 =12.5g(1
Mass of unreacted ZnCO3  = 17-12.5




     4.5g(1
28. a)        2.8.8(1
     (b) 
Z3- has a larger size than Z (1–since there is repulsive force between the existing electron and   incoming electrons (1
29.

· Add excess dilute hydrochloric acid /sulphuric acid to the mixture to dissolve copper II oxide . (1
· Filter the mixture to obtain copper turnings as a residue (1
· Wash the residue wih distilled water to remove impurities.

(¹mk if cure levels off after a and more gentle slope.





X2(g) + Y2(g)





 2X2Y (g)





Reaction path
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2C(s)    +   3H2(g)  +  ½ O2(g)			C2H5OH
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2CO2(g)       +                3H2O
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